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1.The least squares method in linear regression problems minimizes which of the following?

(a) SSR (b)SSE (©)SST ()ALl of the above
2 REARIRE H o B © BT R THOSET e N BE S5 b FHERI , BN F51ie BOYSRERAHE ?
(@) @=0.001 H pB=0.1 (b) =001 B =005 () a=0.05 B B=0.01
(d a=01 H B=0.001 (e) a=0.05 H B=0.05
3. In a left-skewed distribution
(a) the median equals the mean. (b) the median is less than the mean.

(c) the median is greater than the mean. (d) none of the above.

4. The p-value criterion for hypothesis testing is to reject the null hypothesis if:
(a) p-value =a (b) p-value <a
(c) p-value>a (d) -a<p-value <«

= AR 105(BA 5 4)
L. If two events are mutually exclusive, what is the probability that both occur at the same time?

2. Which of the following is a continuous quantitative variable? Please write down your answers.
A. the color of a student's eyes
B. the temperature of the water
C. the number of employees of an insurance company
D. the amount of milk produced by a cow in one 24-hour period.
E. the number of gallons of milk sold at the local grocery store yesterday.
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